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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1.
1) 326 2) 390 3) 540 4 634
-223 - 334 - 255 -527 )
3
4,
5 782 6 104 no771 8 112 >
- 507 -100 -210 —_& 5
7.
8.
9 736 100 822 11) 461 12) 604 9.
-234 - 399 - 387 - 595
— — — 10.
11.
12.
13) 893 14) 950 15 963 16) 862 13.
- 590 - 600 -709 - 204
- - - 14.
15.
16.
17) 416 18) 699 19) 898 200 387 17
- 313 -226 - 557 —_361
18.
19.
20.
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3 Digit Minus 3 Digit Name: Answer Key
Use subtraction to solve the following problems. Answers
1 103
1) 326 2) 390 3) 540 4 634
-223 - 334 - 255 ;527 2 56
103 56 285 107
3 285
4 107
5 782 6 104 N 771 8 112 5. 215
- 507 -100 -210 ;109 6 4
275 4 561 3
7 561
8. 3
9 736 10 822 1) 461 12 604 J 502
-234 - 399 - 387 ;595 o 423
502 423 74 9
1. 74
12 9
13) 893 14) 950 15 963 16) 862 13, 303
- 590 - 600 -709 -204
303 350 254 658 . 330
15. 254
16. 658
17) 416 18) 699 19 898 20) 387 17. 103
- 313 -226 - 557 - 361
103 473 341 26 18, 473
19. 341
20, 26
1-10 [95|190|85(80(75|70| 65|60 |55|50
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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
350 74 56 561 254
107 9 103 502 3 1.
423 4 285 275 303
2.
1) 326 2) 390 3) 540 3.
-223 - 334 - 255
E— E— 4,
5.
6.
4 634 5 782 6) 104
- 527 - 507 -100 .
8.
9.
N 771 8 112 9 736 10.
- 210 -109 -234
e —_— e 11.
12.
13.
10) 822 11) 461 12) 604
- 399 - 387 - 595 o
15.
13) 893 14) 950 15) 963
- 590 - 600 - 709
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